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Solve each problem.

1) 37 + 15 = 52

2) 79 + 6 = 85

3) 3,476 + 24 = 3,500

4) 7,007 + 3,124 = 10,131

5) 890 + 49 = 939

6) 9,600 + 302 = 9,902

7) 91 + 4 = 95

8) 569 + 22 = 591

9) 332 + 226 = 558

10) 920 + 457 = 1,377

11) 9,373 + 166 = 9,539

12) 4,319 + 39 = 4,358

13) 908 + 466 = 1,374

14) 77 + 28 = 105

15) 9,195 + 7,138 = 16,333

Answers

1. 52

2. 85

3. 3,500

4. 10,131

5. 939

6. 9,902

7. 95

8. 591

9. 558

10. 1,377

11. 9,539

12. 4,358

13. 1,374

14. 105

15. 16,333
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Solve each problem.

591 9,902 52 10,131 939

1,377 3,500 558 95 85

1) 37 + 15 = 52

2) 79 + 6 = 85

3) 3,476 + 24 = 3,500

4) 7,007 + 3,124 = 10,131

5) 890 + 49 = 939

6) 9,600 + 302 = 9,902

7) 91 + 4 = 95

8) 569 + 22 = 591

9) 332 + 226 = 558

10) 920 + 457 = 1,377

Answers

1. 52

2. 85

3. 3,500

4. 10,131

5. 939

6. 9,902

7. 95

8. 591

9. 558

10. 1,377
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